MCOM-08

December — Examination 2023

M.Com. (Final) Examination

COST AND MANAGEMENT ACCOUNTING
Paper : MCOM-08

Time : 3 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given

instructions.
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Section—-A 8x2=16
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (i What do you mean by cost centre ?
AN E ST F THEd § 7
(i) Difference between cost and costing.
AN TN AN ERT § SRR T Hite |

(i11) What do you understand by opportunity

cost?
HTR A Y T N FHAS & ?
(iv) What is Bin Card ?
‘fom w1’ | ST F THe § 2
(v) What is EOQ ?
TR STeeT A w7 ?
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(vi) What is flux Rate of Labour Turnover ?

g9 AR FT SAETTHT X M Y ?

(vii) What do you mean by Break-even chart ?
Tr-foeg = | 9 @ wHed § 7

(viil) What i1s work certified ?

yaTfora e fRd e © 2

Section-B 4x8=32

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
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. What is meant by Contract Price ?

S oI W AT M IR § 2

. What is Activity base costing method ?

foran smenfia @rma fafo fafa = & 2

. State the importance of cash flow statement.

Tehe gaTE faeror w1 Heem e

. What is meant by operating costing ? In which

industries is it used ?

fEred e fafor §fg | = efyue ® 2 98 R
A H SR S © ?

. Write any four advantages of financial statement

analysis.

foxig foaror fageomr & =™ ST T9EET |

. Write short notes on the following :

(@) Abnormal Wastage

(b) Joint Product

MCOM-08/8 (4) TC-537



frafafea w dfea fewfoat s .
(31) EHE &
(F) FIF IAQ

8. Department ‘X’ of a certain factory submits the

following data for the last week of December-2022 :

TH &REH ¥ ‘X’ faum & fgaw=r 2022 & =Afaq

qae & fhe frafafed € .

Budgeted output for 40 hrs. Per week 1400 units

Budgeted fixed overheads T 1400
Actual output 1200 units
Actual Hours worked 32 hrs.
Actual fixed overheads % 1500

Calculate various fixed overheads variances.

fafym warh suftesm fa=ren =i o wifsa

9. Explain the difference between Indirect Expenses

and Overhead.

AYTY] TH TH SURET U A< HHSEU |
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Section—-C 2x16=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 16 marks.
gug—yq
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10. Explain net Present value method and Internal rate
of return method of capital budgeting.
ISt aed % YB aduH qged fafy 3 safe e R
faftr =1 Tw=ET

11. Distinguish between the following :

[ oo [aWa)

(AHEldleld HAL S onllsid ¢

(@) Absorption and apportionment of overheads

SUREH 1 STERIEU TH STIHSH
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12.

MCOM=08/8 (7)

(b) Fixed and flexible budget
fer @ TR e
(c) Absolute Tonne kilometre and commercial

tonne kilometre
TRs = feeiie T it o
(d) Over-absorption and under-absorption of
overheads
SR 1 SIS TE =ATESieoT
Calculate the number of employees in the beginning

and at the end of the year from the following

information :

o oo~

frfafed gemel & ad & e T 98 & o< A

[aWa

HHEE 1 T&A [ HIST
Labour Turnover Rate 5%

No. of Separations during the year 10
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13.

14.

MCOM-08/8 (8)

Number of employees at the end of the year were
100 in excess compared to number of employees

in the beginning.

T8 & YREH H HHANET R WS & g H 98 &

d H HH=ETE hi T& 100 At ot

“Budgetary control improves planning, aids in co-
ordination and help in having ‘Comprehensive

control.” Substantiate this statement.

“gore frE fEeE § guR o, @Eed H AR
F T qel e § owemw B §1” 39 wed &
gfee =ifs)

“Cost accounting has become to be an essential

tools of management.” Comment.

“OINTA STeiRT TS Rl HEeqU SO & T g1

THte ifeg |
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